COUNTY OF ROCKLAND

Department of General Services **Purchasing Division**

Contract Award Notification

Title: FILTERS-HVAC

Contract Period: November 8, 2023 through November 7, 2024 w/2-1 year options

Original Date of Issue: November 14, 2023

Date of Revision:

BID No: RFB-RC-2023-076

Catalog: Facilities

Authorized Users: County Agencies, All Political Subdivisions

Address Inquiries To:

Name: Robert Poole Title: Purchaser I Phone: 845-364-3809 Fax: 845-364-3809

E-mail: pooler@co.rockland.ny.us

<u>Description</u> This contract is to provide various HVAC filters.

Contract #	Vendor Number	Contractor & Address	Telephone No.
BID 23-076	0000008477	Air Engineering Filters	(914) 238-5945
		Box 174	
		Chappaqua, NY 10514	
		Contact: Pamela N. Rubin	
		airfilters@optonline.net	FAX: (914) 238-6337

Air Engineering Filters, Inc.

VENDOR:

LINE NO.	DESCRIPTION	ITEM NO.	EST. QTY.	UNIT PRICE	EXTENDED PRICE	BRAND NAME AND PRODUCT CODE
	SECTION # 1					
1	Multi pleat - MERV8, 3-Ply Panel 18" x 20" x 2"	03145000005	96	\$5.38	\$516.48	TRI DIM 2301820208
2	Multi pleat - MERV8, 3-Ply Panel 15" x 20" x 2" Activator panels, internal, supported panel filers, high moisture applications	03145000006	32	\$5.62	\$179.84	Air Engineering 230152023P
3	MERV8 3-Ply Panel 20" x 20" x 2"	03145000007	68	\$6.00	\$408.00	A&E 5251186773AT
4	Extended surface pleated filter element, 24" x 24" x 2" 30-35% efficiency, MERV8, 10-12 pleats, with Aegis Antimicrobial	03145030001	96	\$5.38	\$516.48	A&E 5251186773AT
5	Extended surface pleated filter element, 12" x 24" x 2" 30-35% efficiency, MERV8, 10- 12 pleats, with Aegis Antimicrobial	03145030002	48	\$4.35	\$208.80	A&E 525118499OAT
6	Extended surface pleated filter element, 20" x 25" x 2" 30-35% efficiency, MERV8, 10- 12 pleats, with Aegis Antimicrobial	03145030003	24	\$5.11	\$122.64	A&E 5251104791AT
7	Extended surface pleated filter element, 20" x 20" x 2" 30-35% efficiency, MERV8, 10-12 pleats, with Aegis Antimicrobial	03145030004	72	\$4.74	\$341.28	A&E 2302020208AT

TELEPHONE NO.: 845-364-3820 FAX NO.: 845-364-3809

VENDOR:

LINE	DESCRIPTION	ITEM NO.	EST.	UNIT PRICE	EXTENDED	BRAND NAME AND PRODUCT CODE
NO.			QTY.		PRICE	
8	Extended surface pleated filter element, 16" x 25" x 2" 30-35% efficiency, MERV8, 10-12 pleats, with Aegis Antimicrobial	03145030005	120	\$4.80	\$576.00	A&E 2301625208AT
9	Extended surface pleated filter element, 25" x 25" x 2" 30- 35% efficiency, MERV8, 10-12 pleats	03145030006	24	\$6.88	\$165.12	TRI DIM 2302525208
10	Extended surface pleated filter element, 20" x 25" x 2" 30-35% efficiency, MERV8, 10-12 pleats	03145030007	36	\$5.11	\$183.96	TRI DIM 2302025208
11	Extended surface pleated filter element, 16" x 20" x 2" 30- 35% efficiency, MERV8, 10- 12 pleats	03145030008	120	\$4.43	\$531.60	TRI DIM 2301620208
12	Extended surface pleated filter element 20" x 30" x 2" 30-35% efficiency, MERV8, 10-12 pleats	03145030009	12	\$5.76	\$69.12	TRI DIM 2302030208
13	Extended surface pleated filter element 20" x 34" x 2" 30-35% efficiency, MERV8, 10- 12 pleats	03145030010	4	\$17.80	\$71.20	A&E 420Z034ZPT
14	Extended surface pleated filter element 24" x 24" x 2" 30-35% efficiency, MERV8, 10-12 pleats	03145030011	4	\$5.38	\$21.52	TRI DIM 2302424208
15	Extended surface pleated filter element 22" x 22" x 1" 30-35% efficiency, MERV8, 10- 12 pleats	03145030012	4	\$5.03	\$20.12	A&E 420ZZZZ1PT

TELEPHONE NO.: 845-364-3820 FAX NO.: 845-364-3809 VENDOR:

LINE NO.	DESCRIPTION	ITEM NO.	EST. QTY.	UNIT PRICE	EXTENDED PRICE	BRAND NAME AND PRODUCT CODE
16	Extended surface pleated filter element 20" x 30" x 1" 30-35% efficiency, MERV8, 10-12 pleats	03145030013	4	\$5.08	\$20.32	TRI DIM 2302030108
17	Extended surface pleated filter element 16" x 24" x 2" 30-35% efficiency, MERV8, 10-12 pleats	03145030014	4	\$4.76	\$19.04	TRI DIM 2301624208
18	Extended surface pleated filter element 16" x 20" x 1" 30-35% efficiency, MERV8, 10- 12 pleats	03145030015	4	\$4.26	\$17.04	TRI DIM 2301620108
19	Extended surface pleated filter element 15" x 20" x 1" 30-35% efficiency, MERV8, 10- 12 pleats	03145030016	4	\$4.41	\$17.64	TRI DIM 2301520108
20	Extended surface pleated filter element 9" x 22" x 1" 30-35% efficiency, MERV8, 10- 12 pleats	03145030017	4	\$5.73	\$22.92	A&E 42009ZZ1PT
21	Extended surface pleated filter element 20" x 20" x 4" 30-35% efficiency, MERV8, 10- 12 pleats	03145030018	4	\$8.94	\$35.76	TRI DIM 2302020408
22	Extended surface pleated filter element, 20" x 24" x 2" 30-35% efficiency, MERV8, 10- 12 pleats	03145030019	12	\$5.05	\$60.60	TRI DIM 2302024208
23	Mini pleat cartridge filter, 16" x 20" x 4" 65% efficiency, MERV11, 50 sq. ft. media	03145050003	72	\$45.16	\$3,251.52	Tri Dim 8ABMDC16NZON4000

TELEPHONE NO.: 845-364-3820 FAX NO.: 845-364-3809

VENDOR:

LINE NO.	DESCRIPTION	ITEM NO.	EST. QTY.	UNIT PRICE	EXTENDED PRICE	BRAND NAME AND PRODUCT CODE
24	Mini pleat cartridge filter, 16" x 25" x 4" 65% efficiency, MERV11, 75 sq. ft. media	03145050004	72	\$44.25	\$3,186.00	Tri Dim 8ABMDC16N25N4000
25	Extended surface bag filter element, 24 "x 24 "x 30" 95% efficiency, MERV15, 8 pocket, with gaskets on 2 vertical sides and glide pac header	03145070001	60	\$44.56	\$2,673.60	A&E 302242430958AGD
26	Extended surface bag filter element, 12"x 24"x 22" 95% efficiency, MERV15, 4 pocket, with gaskets on 2 vertical sides and glide pac header	03145070002	48	\$27.56	\$1,322.88	A&E 3021Z24ZZ954PEO
27	MV mini pleat cell filter, 20" x 24" x 12" MERV14, single header 8 panel, 210 sq. ft. media	03145070003	24	\$75.39	\$1,809.36	TRI DIM 8VSM5TP123C19CC000M SAME ITEM NEW #
28	MV mini pleat cell filter, 24" x 24" x 12" MERV14, single header 8 panel, 250 sq. ft. media	03145070004	30	\$84.58	\$2,537.40	TRI DIM 8VSM5TP123C23CC000M SAME ITEM NEW #
29	Throw away Synthetic filter with scrim 8" x 55" x 1"	03145110001	4	\$6.17	\$24.68	A&E 52085501T
30	Throw away Synthetic filter with scrim 8 1/4 " x 213/4" x 1"	03145110002	4	\$4.48	\$17.92	A&E 5208E21G01T
31	Fiber throw away Synthetic filter with scrim 8 1/4 " x 19 3/4" x 1"	03145110003	4	\$5.53	\$22.12	A&E 5208E19G01T
32	Fiber throw away Synthetic filter with scrim 9" x 26-7/8" x 1"	03145110004	4	\$8.29	\$33.16	A&E 52009Z6H01T

Air Engineering Filters, Inc.

VENDOR:

LINE NO.	DESCRIPTION	ITEM NO.	EST. QTY.	UNIT PRICE	EXTENDED PRICE	BRAND NAME AND PRODUCT CODE
33	Aegis Antimicrobial, Ashrae efficiency MERV11 20" x 120"	03145380001	24	\$27.69	\$664.56	A&E 23020Z4054P
	4-ply internal ring link					
34	Aegis Antimicrobial, Ashrae efficiency MERV11 20" x 96"	03145380002	4	\$22.15	\$88.60	A&E 2302Z024O44P
	4-ply internal ring link					
35	Ashrae efficiency MERV10 26" x 56" 4-ply internal ring link	03145380003	4	\$19.83	\$79.32	A&E 2302618034P
36	Ashrae efficiency MERV8	03145380004	4	\$12.92	\$51.68	A&E
30	40" x 40"	03143380004	7	\$12.72	ψ31.00	2304040003P
	3-ply internal ring link					
37	Panel, Ashrae efficiency MERV8	03145380005	4	\$14.62	\$58.48	A&E
	13" x 52"					2301326023P
	3-ply internal ring link					
38	Panel, Ashrae efficiency MERV8	03145380006	4	\$11.32	\$45.28	A&E 23009Z6023P
	9" x 52" 3-ply internal ring link					23009Z6023P
39	Cube Ashrae efficiency MERV8	03145380007	4	\$17.56	\$70.24	A&E
39	12" x 12" x 15" 3-Ply	03143380007	4	\$17.30	ψ/0.24	2301212153C
40	Cube Ashrae efficiency MERV8	03145380008	4	\$17.56	\$70.24	A&E
	14" x 14" x 15" 3-Ply	0311330000	,	ψ17.00	4, 0,=	2301414153C
41	Aegis Antimicrobial Ashrae efficiency MERV11 16" x 80" 4-ply internal ring link	03145380025	2	\$18.80	\$37.60	A&E 2301620043EP
42	Aegis Antimicrobial Ashrae efficiency MERV11 20" x 80" 4-ply internal ring link	03145380026	2	\$20.34	\$40.68	A&E 2302020043EP

Air Engineering Filters, Inc.

VENDOR:

LINE	DESCRIPTION	ITEM NO.	EST.	UNIT PRICE	EXTENDED	BRAND NAME AND PRODUCT CODE
NO.			QTY.		PRICE	
43	Aegis Antimicrobial Ashrae efficiency MERV11 18" x 80" 4-ply internal ring link	03145380027	2	\$20.34	\$40.68	A&E 2301820043EP
44	Aegis Antimicrobial Ashrae efficiency MERV11 20" x 100" 4-ply internal ring link	03145380028	2	\$22.42	\$44.84	A&E 2302025043EP
45	Aegis Antimicrobial Ashrae efficiency MERV11 25" x 100" 4-ply internal ring link	03145380029	2	\$25.58	\$51.16	A&E 2302516023EP
46	Aegis Antimicrobial Ashrae efficiency MERV11 25" x 32" 4-ply internal ring link	03145380030	2	\$10.30	\$20.60	A&E 2302516023EP
	SECTION # 2					
47	100' Rolls 2 Ply Dacron, 8" width slip on filters	03145000001	10	\$ 47.39	\$473.90	A&E 230810025L
48	100' Rolls 2 Ply Dacron, 10" width slip on filters	03145000002	2	\$ 52.20	\$104.40	A&E 2301010025L
49	High efficiency Ashrea filter box type MERV14 23-7/8"x 23-7/8" x11-1/2", exact, need sample Double Header, metal frame, gasket upstream with cross brace in center	03145000003	18	\$ 203.40	\$3,661.20	TRI DIM 633324232012
50	High efficiency Ashrea filter box type MERV14 23-7/8"x 11-7/8" x11-1/2", exact, need sample Double Header, metal frame, gasket upstream with cross brace in center	03145000004	4	\$ 125.30	\$501.20	TRI DIM 633313232012

TELEPHONE NO.: 845-364-3820 FAX NO.: 845-364-3809

VENDOR:

LINE NO.	DESCRIPTION	ITEM NO.	EST. QTY.	UNIT PRICE	EXTENDED PRICE	BRAND NAME AND PRODUCT CODE
51	Filters Ashrae efficiency MERV8 16" x 20" 3-ply internal ring panel, treated with Aegis Antimicrobial System	03145380009	8	\$ 4.20	\$33.60	A&E 23016203P
52	Filters Ashrae efficiency MERV8 16" x 25" 3-ply internal ring panel, treated with Aegis Antimicrobial System	03145380010	32	\$ 4.65	\$148.80	A&E 23016253P
53	Filters Ashrae efficiency MERV8 16" x 40" 3-ply internal ring link, treated with Aegis Antimicrobial System	03145380011	28	\$ 7.41	\$207.48	A&E 2301620023P
54	Filters Ashrae efficiency MERV8 20" x 20" 3-ply internal ring panel, treated with Aegis Antimicrobial System	03145380012	12	\$ 4.44	\$53.28	A&E 23020203P
55	Filters Ashrae efficiency MERV8 20" x 48" 3-ply internal ring link, treated with Aegis Antimicrobial System	03145380013	20	\$ 10.07	\$201.40	A&E 2302024023P
56	Filters Ashrae efficiency MERV8 20" x 60" 3-ply internal ring link, treated with Aegis Antimicrobial System	03145380014	4	\$ 14.00	\$56.00	A&E 2302020033P

Air Engineering Filters, Inc.

VENDOR:

LINE NO.	DESCRIPTION	ITEM NO.	EST. QTY.	UNIT PRICE	EXTENDED PRICE	BRAND NAME AND PRODUCT CODE
57	Filters Ashrae efficiency MERV8 25" x 40" 3-ply internal ring link, treated with Aegis Antimicrobial System	03145380015	4	\$ 10.20	\$40.80	A&E 23025200203P
58	Filters Ashrae efficiency MERV8 25" x 48" 3-ply internal ring link, treated with Aegis Antimicrobial System	03145380016	6	\$ 10.20	\$61.20	A&E 23025240203P
59	Filters Ashrae efficiency MERV8 25" x 60" 3-ply internal ring link, treated with Aegis Antimicrobial System	03145380017	68	\$ 13.80	\$938.40	A&E 23025200303P
60	Filters Ashrae efficiency MERV8 25" x 80" 3-ply internal ring link, treated with Aegis Antimicrobial System	03145380018	12	\$ 18.42	\$221.04	A&E 23025200403P
61	Filters Ashrae efficiency MERV8 25" x 96" 3-ply internal ring link, treated with Aegis Antimicrobial System	03145380019	16	\$ 20.13	\$322.08	A&E 23025240403P
62	Filters Ashrae efficiency MERV8 25" x 120" 3-ply internal ring link, treated with Aegis Antimicrobial System	03145380020	4	\$ 25.16	\$100.64	A&E 23025240503P

TELEPHONE NO.: 845-364-3820 FAX NO.: 845-364-3809

VENDOR:

LINE NO.	DESCRIPTION	ITEM NO.	EST. QTY.	UNIT PRICE	EXTENDED PRICE	BRAND NAME AND PRODUCT CODE
63	Filters Ashrae efficiency MERV8 20" x 22-1/2" 3-ply internal ring panel, treated with Aegis Antimicrobial System	03145380021	20	\$ 4.44	\$88.80	A&E 2302022503P
64	Filters Ashrae efficiency MERV8 16" x 33" 3-ply internal ring link, treated with Aegis Antimicrobial System	03145380022	24	\$ 4.65	\$111.60	A&E 2301633013P
65	Filters Ashrae efficiency MERV8 22" x 27" 3-ply internal ring panel, treated with Aegis Antimicrobial System	03145380023	24	\$ 4.44	\$106.56	A&E 230222703P
66	Filters Ashrae efficiency MERV8 16" x 24" 3-ply internal ring panel, treated with Aegis Antimicrobial System	03145380024	8	\$ 3.74	\$29.92	A&E 230162403P
67	Filters Pleated MERV8 High Capacity 24" x 24" x 4"	03145790001	2	\$ 9.98	\$19.96	TRI DIM 2322424408
68	Filters 3-Ply internal ring panel MERV8 20" x 25" X 1" (Tri-Dek # 05020501 or equivalent)	03145790002	30	\$ 4.63	\$138.90	TRI DIM 2301820208
69	Filter Pleated MERV8 High Capacity 20" x 25" x 4" (Tri-Dek # 2302025440 or equivalent)	03145790003	4	\$ 9.10	\$36.40	Air Engineering 230152023P

Air Engineering Filters, Inc.

VENDOR:

LINE NO.	DESCRIPTION	ITEM NO.	EST. QTY.	UNIT PRICE	EXTENDED PRICE	BRAND NAME AND PRODUCT CODE
70	Filter Hepa 99.97% High Capacity 23-3/8" x 23-3/8" x 11-1/2" 2000CFM, PB, N/HDR Gasket Downstream Metal Frame (1L2424NCBG211 or equivalent)	03145790004	2	\$ 168.87	\$337.74	A&E 5251186773AT
71	Filter Pleated MERV8 High Capacity 24" x 24" x 2" High Capacity Brutus Max Pleated MERV 8 (part# HAP0824242 or equivalent)	03145790005	2	\$ 5.38	\$10.76	A&E 5251186773AT
72	Filter Micro Cell MERV16 95% DOP 24" x 12" x 12" Single Header Metal Frame	03145790006	2	\$ 89.24	\$178.48	A&E 525118499OAT
73	Filter MERV 11 14" x 17-1/2" x 1-3/4"	0314570007	12	\$11.52	\$138.24	A&E 5251104791AT
	SECTION # 3					
74	#300 Carbon Web Metal Frame Filter Exact size: 12" x 24' x 1" Actual Dimensions: 11 7/8" x 23 11/16" x 1" 300GM / FT² density carbon web pad housed w/in metal frame with expanded metal face grill on both sides. Tri Dim Tri Sorb III Metal TSC-30, D-Mark 300	03145080001	5	\$34.70	\$173.50	D-Mark #300 Carbon Web Panel in Metal Frame

PAGE: 6

COUNTY OF ROCKLAND - DGS-PURCHASING

BLDG. A., 6TH FLOOR, 50 SANATORIUM RD, POMONA, NY 10970 TELEPHONE: 845-364-3820 / TELEFAX: 845-364-3809

TITLE: FILTERS - HVAC RFB #: RFB-RC-2023-076

PURCHASES BY OTHER

LOCAL GOVERNMENTS, SCHOOL DISTRICTS, AND NON-PROFIT AGENCIES

As per the New York State General Municipal Law, all political subdivisions of New York State are allowed to make purchases through the resulting contract(s). As per Rockland County Procurement Policy, Non-Profit Agencies approved to participate in New York State's Contract Extension Program are authorized to make purchases through the resulting contract(s).

- 1. The County of Rockland shall make all contract award information available to other political subdivisions and non-profit agencies through our website: www.rcpurchasing.com
- 2. Any other political subdivision or Rockland County non-profit agency will issue purchase orders directly to vendors within the specified contract period referencing the County's contract and shall be liable for any payments due on such purchase orders; and shall accept sole responsibility for any payment due.
- 3. All purchases shall be subject to audit and inspection by the other political subdivisions and Rockland County non-profit agencies for which the purchase was made.
- 4. No officer, board or agency of a county, town, village, or school district shall make any purchase through the County when bids have been received for such purchase by such officer, board or agency, unless such purchase may be made upon the same terms, conditions and specifications at a lower price through the County.
- 5. All Bidders shall be on notice that as a condition of the award of a County contract, the successful bidder shall accept the award of a similar contract with any other political subdivision in New York State and Rockland County non-profit agencies authorized to use New York State's contracts, if called upon to do so. A listing of approved Rockland County non-profit agencies is available on the Purchasing Division's website at www.rcpurchasing.com. The County, however, will not be responsible for any debts incurred by the participants pursuant to this or any other agreement.
- 6. Necessary deviations from the County's specifications in the award of a participant contract, whether such deviations relate to quantities, or delivery points shall be resolved between the successful bidder and the other political subdivisions and Rockland County non-profit agencies.

PAGE: 7

COUNTY OF ROCKLAND - DGS-PURCHASING

BLDG. A., 6TH FLOOR, 50 SANATORIUM RD, POMONA, NY 10970 TELEPHONE: 845-364-3820 / TELEFAX: 845-364-3809

TITLE: FILTERS - HVAC RFB #: RFB-RC-2023-076

SPECIFICATIONS

1. SCOPE

1.1. The scope of this bid is to provide specified filters to the County of Rockland on an as needed basis. Quantities listed are estimated based on previous usage and may be more or less during term period.

2. NONRESTRICTIVE BRAND NAME OR EQUAL SPECIFICATIONS

2.1. The use of a brand name is for the purpose of describing the standard of quality, performance, and characteristics desired and is not intended to limit or resist competition.

3. MANUFACTURER BRAND NAME AND PART NUMBER

3.1. Actual manufacturer brand name and part numbers being bid are to be indicated in the part number column. Stock numbers may also be included. Vendors are to indicate actual manufacturer's part number in this column. If the actual manufacturers brand name and product code on any item line being bid is left blank, bid may be rejected.

4. APPROVED EQUAL OR EQUIVALENT ITEMS

- 4.1. Supplier must submit specifications, cut sheets and brochure date with his bid.
- 4.2. Supplier must also include company name, address, contact and contact telephone number of five (5) locations where the product is being utilized (see page 28 of the bid package).
- 4.3. Samples: Supplier <u>must</u> submit samples to the Purchasing Department for evaluation on items 49 & 50.
 - 4.3.1. All sample materials must be clearly labeled with the following information:
 - 4.3.1.1. Bid number.
 - 4.3.1.2. Bid item number.
 - 4.3.1.3. Bid item name.
 - 4.3.1.4. Product name.
 - 4.3.1.5. Vendor name.
 - 4.3.2. These items will be used for evaluation purposes and will be returned if requested by the vendor. The using department based on trials, product review or experience will make the evaluation of these products.

5. **DELIVERY**

- 5.1. Product is to be FOB destination WITHIN 15 days after receipt of purchase order.
- 5.2. Indicate fax numbers, where purchase orders are to be sent.

PAGE: 8

COUNTY OF ROCKLAND - DGS-PURCHASING

BLDG. A., 6TH FLOOR, 50 SANATORIUM RD, POMONA, NY 10970 TELEPHONE: 845-364-3820 / TELEFAX: 845-364-3809

TITLE: FILTERS - HVAC RFB #: RFB-RC-2023-076

6. RENEWAL OPTIONS

6.1. At the option of the County of Rockland and the Supplier, this contract may be extended for two additional one-year terms with the prevailing CPI-U increase. CPI-U means the Consumer Price Index for U.S. City Average - Consumer Price Index for All Urban Consumers as published by the Bureau of Labor Statistics of the United States Department of Labor or a successor or substitute index, appropriately adjusted. The Final and Binding decision to extend or not extend this agreement shall rest with the County of Rockland.

7. USAGE

7.1. To date, the current contract RFB-RC-2019-058 has expended \$44,154.96 for the term of from 11/8/2019 through 9/30/2023.

8. AWARD

- 8.1. Award to be made to the lowest responsive/responsible bidder by section.
 - 8.1.1. Bidder to submit pricing for each line item in each section.
 - 8.1.2. Each section to be awarded as a group.